Řešení 27.,28.4
	450mm
	18 000g
	5m 64cm

	210cm
	4 000kg
	2kg 18g

	4h
	5 100l
	3hl 42l

	2min
	15 000ml
	6h 50min


PS 18/4 


PS 18/5		Zájezd pro jednoho účastníka stál 12 840Kč
PS 18/6		Cena jednoho počítače je 27 000Kč
		1notebook….15 000Kč
	1notebook….15 000Kč
	156 000 – 75 000= 81 000Kč
	3počítače …….. 81 000Kč

	5ntb….5x15 000=75 000Kč
	
	1PC …….81 0000:3=27 000Kč



PS 18/7		12 760 x 109 = 1 390 840km	průměr Slunce
		1 390 840 – 12 760 = 1 378 080km	je průměr Slunce větší než průměr Země
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